Customer Informatlon Sheet

DRAWING No.: MBQ-5TIXXXXBI  SHEET 2 OF 2 IF IN DOUBT - ASK | NOT TO SCALE THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm
SPE%EEICATIONS:
MATERIAL: .
MOULDING = GLASS-FILLEDNPPS, UL94V-0, BLACK TOTAL No. OF CONTACTS +11.40 ORDER CODE: .
CONTACT = PHOSPHOR BRONZ M80-5 XXXB I
BOARD/PANEL MOUNTS & NUTS = SJAINLESS STEEL
BOARD/PANEL MOUNTS 8 NUTS = TOTAL No. OF CONTACTS +5.00 TOTAL Ko OF CONTACK™ T T
FINISH: R A
CONTACTS: — 6.60 ~—TOTAL No. OF CONTACTS -2.00—=
05 = 0.75p GOLD ALL OVER FINISH COD
22 = 0.754 GOLD ON CONTACT AREA, vy . 05 - ALL”OVER GOLD
3p TIN/LEAD ON TAILS /= - 22 - B0LD ON CONTACT AREA / TIN/LEAD ON TAIL
42 = 0.75y GOLD ON CONTACT AREA, < GOLD ON CONTACT AREA / 100% TIN OVER

3p 100% TIN ON TAILS
BACKSHELL = NICKEL
ELECTRICAL:
RF ATTENUATION = I0kHz to 400MHz @ >30dBs
IN GENERAL ACCORDANCE WITH MIL STD 1377 (1971)

CURRENT RATING AT 25:C = 3.0A MAX
CURRENT RATING AT 85°C = 2.2A MAX
WORKING VOLTAGE = 120V AC/DC

VOLTAGE PROOF = 360V AC/DC

CONTACT RESISTANCE = 25 mQ) MAX

INSULATION RESISTANCE = 100 MO MIN
MECHANICAL :

DURABILITY = 500 OPERATIONS
ENVIRONMENTAL :

TEMPERATURE RANGE = -55°C TO +121°C

PACKING:

SEE NOTES
FOR COMPLETE SPECIFICATION, SEE COMPONENT
SPECIFICATION COO5XX (LATEST ISSUE) AND CO42XX
(LATEST ISSUE)

NOTES:

T.

+ 4
—k

04 4 4 o
oo 404 4

SO\

p—

X /I _!'/‘q
¥ .2 Z

. SUPPLIED AS A KIT OF PARTS, CONNECTORS SHOWN

ASSEMBLED FOR INFORMATION PURPOSES ONLY.

2. CONNECTORS WITH JACKSCREWS ASSEMBLED WILL BE
SUPPLIED IN TUBES, SLOTTED NUTS WILL BE SUPPLIED
LOOSE IN A BAG, BACKSHELLS WILL BE INDIVIDUALLY

BAGGED.

ASSEMBLED CONNECTOR

KITS WILL BE BULK PACKED INTO BOXES.

SHOWN FOR ILLUSTRATION

PURPOSES ONLY

EXAMPL
GOLD ON

RDER CODE:

M80-5T120428B1

CONNECTOR WITH 20 CONTACTS,
TACT AREA AND 100% TIN ON TAIL,

2.7mm PC TAIL

\————CONTACT No.

v

2 x M2 x 0.4-6H

NICKEL ON TAIL

OBSOLETE

! ‘_| ! I ! ! / f ! ] |_'
|
Zimn\ZH IR 4| | 7.50 ||
| { | N R % | | .50
| | | 1 ] |
| | 0.60
/1 ! ! 1 ! ! 1 | 1 1 I I/ _¢'
N) ! | l | ¢ i i:{, [N
e ) | | | | | I [} e )
| \ 1 1
NP eo ) senon e
YT ISR NN i
PART SECTION X- <7 2.00 TYP =——2 x M2 x 0.4-6g F_)Fg.oo
RECOMMENDED PCB LAYOUT
TOTAL No. OF CONTACTS +I1.40
< TOTAL No. OF CONTACTS +5.00 ——= ——\G14.00 [~
TOTAL No. OF CONTACTS -2.00 2 x M2 SLOTTED NUTS
| ’(; @ M SUPPLIED LOOSE IN BAG
S % k - T | % I 58 RIS I
——r--——q----- NAME |1 A IN
| ' .
: \& / [ APPROVED:  S.BENNETT
_¢__¢__¢_ : — - 2 x M2 x 0 CHECKED: S.FLOWER
: DRAWN: S.FLOWER
—¢——¢——¢— I CUSTOMER REF.:
|
|
____________________ T2 x §2.20 MIN ASSEMBLY DRG.
=1/2\[23VWVAIN romarion 08 otsceiprive | TOUERANCES  JMATERIAL: TITLE: DATAMATENGTEK DIL
gl | S - URSSY W1 TH NETAL DACKSHELL.
o, M A S f N Aste, | LS [ - Zololm .
: ~ : OR USED FOR MANUFACTURING, o |FINISH:  SEE ABOVE DRAWING NUMBER: SHT
FAX: 603 893 5396 JFAX: 023 9231 4590FAX: +65 6 779 3868 TENDERING OR FOR ANY ANGLES = %5 M80-5TIXXXXBI 2
mis@harwin.com | miseharwin.co.uk | mis@harwin.com.sg | [ OTRERFURRASE WM h -\ eoc craten | S/AREA: mm?2 \9{&



wpreston
Line

wpreston
Line


Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

Harwin:
M80-5T10605B1 M80-5T11005B1 M80-5T11405B1 M80-5T12005B1 M80-5T12605B1 M80-5T10622B1 MS8O-
5T10642B1 M80-5T11022B1 M80-5T11042B1 M80-5T11422B1 M80-5T11442B1 M80-5T12022B1 MS80-5T12042B1

M80-5T12622B1 M80-5T12642B1



https://www.mouser.com/harwin
https://www.mouser.com/access/?pn=M80-5T10605B1
https://www.mouser.com/access/?pn=M80-5T11005B1
https://www.mouser.com/access/?pn=M80-5T11405B1
https://www.mouser.com/access/?pn=M80-5T12005B1
https://www.mouser.com/access/?pn=M80-5T12605B1
https://www.mouser.com/access/?pn=M80-5T10622B1
https://www.mouser.com/access/?pn=M80-5T10642B1
https://www.mouser.com/access/?pn=M80-5T10642B1
https://www.mouser.com/access/?pn=M80-5T11022B1
https://www.mouser.com/access/?pn=M80-5T11042B1
https://www.mouser.com/access/?pn=M80-5T11422B1
https://www.mouser.com/access/?pn=M80-5T11442B1
https://www.mouser.com/access/?pn=M80-5T12022B1
https://www.mouser.com/access/?pn=M80-5T12042B1
https://www.mouser.com/access/?pn=M80-5T12622B1
https://www.mouser.com/access/?pn=M80-5T12642B1

